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WIBH L BB AR 20234 23 HR 0 B oS L D #4008
FS| & & BiMiE= RIS B RS R ML RS | MRS | BRSR
1 W 4% 47 211321 #kwkinx044) SAMRT 5 = H B P F R & 70 81 75.50
2 i 211382%*k k5450026 AT H—H BT F = ACF 59 79.2 69.10
3 F 211302%***+%5%3206 AT H—Z % F & RCF 56 80.4 68.20
4 S REPIN 211322k %k sk5%%3773 AT H—HBF F R o 59 73.6 66.30
5 F R4 210701 *¥**+%%%9425 FE T F w9 H%F F & RCF 51 78.8 64.90
6 %L 7 211381 #*kkkx%047 FIA T 5 v SR F &P 50 78.8 64.40
7 AR AR | 211321 F%kRRERx6026 I FH I H B F R 43 80.6 61.80
8 & A 211302%*****%*3608 SAMRT 5 —H B P F & 5 L 79 80.2 79.60
9 I 7 211303 %#**+5%%0429 AT F—Z%F F = P E L 73 81.2 77.10
10 % % 4 211302%****k%%0(25 AT w9 H B F = P iE L 67 84.8 75.90




11 # % 211303% %k k5451 62() ST H I FHE P & P iE L 66 80 73.00
12 EN 211321 #¥kxkxx496X SAMR T 5% v SHEF F P 71 74.2 72.60
13 E I 211322 k%kkk%%(()27 AT FH—SHE T F & EiE 94.5 91.8 93.15
14 F iR 211302%*#*+54%0426 ST FH I HEF 7 =P RIE 97 89 93.00
15 F & pr 211302%**#*k%%322() AT w9 H B F NS 89.5 89.2 89.35
16 M55 | 211381 %kksrkx]g0X FE T F w9 H%F F = F RIE 95.5 82.4 88.95
17 kOF 211303 *#*k%k%%0424 AT H = ZH % F & P BB 84 83.6 83.80
18 LB 211321 #*k*kk%%7629 ST H = ZH % F = PR B 82 82.4 82.20
19 o83 211321 ##**x3%%6427 FAE T v S AT F = P S ABE 77 82 79.50
20 WoH 211421 #¥*xkkx%560 FAE T F w9 H % F & P B A BUS 70 72.4 71.20
21 B A B 211302 #*%k%%%0424 LNl A AV 78 86 82.00
22 J B A 211302k *k%k%%] 626 LR AT AR 72 79.2 75.60
23 £ iL 3h 230302%H*k*k%*4429 ST F v FHE P 5 AR 4 66 79.2 72.60
24 T i A 150430 * #5551 620 AT H ZHR T F &P R 77 89 83.00
25 ok 211381 #kkkkx%(g] 2 AT H—ZHB T F & P 78 87 82.50




26 e 211302 #*#+54%082() R A 2 RN 75 88.4 81.70
27  # 152123 %kk%5%%3126 ST H I H AR &P 73 90 81.50
28 PN 211381 %kkkkik*30)X MR A g 2 = P 68 88.6 78.30
29 B & 211324 %k4x54%0426 ST FH I HEF 7 = P 68 86.8 77.40
30 & F 211404%*kxkk%57) 18 MR A 2 & P 69 84.4 76.70
31 EI 220182%*H*kk*%30] 3 FE T F w9 H%F F = P R 69 83.4 76.20
32 ¥ R 211303 ***k%k4%0464 AT H—Z%F F &P 65 93 79.00
33 X 4£ 42 220183 *H*kHk4x4273 AT F—H % F F 5P 68 89 78.50
34 )y F | 220621 % kkRRRRD) X AT H—HBFF N 61 90.6 75.80
35 5 & #k 211302 k¥ k%% ]62) AT H =[BT F 5P 58 89.6 73.80
36 A 211303%*kkk*%36)3 LNl A RN E 50 85.2 67.60
37 Rk e 211224 %**%k%4%54773 ST B v S B P F & 7 46 87.6 66.80
38 A A 211303%*#4k5%%50423 SR v FHE P F AR 42 88.6 65.30
39 E 4% = 211381 #*kkkk4%3044 AT H—Z % F & P AL 78 91.6 84.80
40 2 | 211481F%mkxrkxg]X AT B =SB PF &P s 79 89.8 84.40




41 210727*%*x%%%%5420 FAMATH = H B F & P 76 92.4 84.20
42 211302k ***5%%3225 ST H I H AR & AL 73 89.2 81.10
43 211302%**k*k%%0483 ST B I H AR = P 71 86.4 78.70
44 210521 ##*xkkx%] 684 ST FH I HEF 7 =P AEY 84 88.8 86.40
45 211302%**H%54%0446 SAMR T 5% v HEF F A 71.5 85.6 78.55
46 211302 ***k%%%(0(22 FE T F w9 H%F F s A 64.5 83.8 74.15
47 211302%**k+k4%08] 2 FAE T F w9 H % F =P RE 65 81.2 73.10
48 211302%#*k+5%%0419 ST F I FHE P F P RAE 60 84.4 72.20
49 220382%*kHkk*%33] | ST B v H AP AP E 61 79.5 70.25
50 2 211303 ****kkx%]205 FAE T F w9 H % F & P EE AR 71 87.4 79.20
51 % 21132 #kssksnnk7427 ST S HE P F & PR B K 54 89.8 71.90
52 T EH 211324k xk%5%%0045 SAMR T —F F WP A 77 77.2 77.10
53 AR F 211321 #¥kwinr56]X SATA TR 5 v PP R 66 84.2 75.10
54 e 211321 #*k%rk450426 AT 5w o F A 71 79 75.00
55 S 211303 *****%*%3205 — PRI 1 HF 70 79 74.50




56 41 % 211302%**k%%%362) — PRI M HF 61 87.2 74.10
57 T 211321 #*k%k4%6020) AT % 2P F WP A 65 82.8 73.90
58 e 211381 ***kk*%34) ] — s EASA P H T 67 79.6 73.30
59 £ Uk AF 211303%***k*x%002X — P AR AL P HF 67 77.6 72.30
60 F @ ik 211322k k%] 577 — PRI 1 HF 72 72.6 72.30
61 = R 211303 ****k%%%0(2] AT 5 AP F P H 63 80.8 71.90
62 T %k 211382 # k441 ] AT AP F WP H 62 81 71.50
63 TR 211382 ***kkx%4]145 A8 T e A AR P T 66 76.2 71.10
64 k. 211303%**kk5%3208 SAMA AR F P ou M HF 58 83.4 70.70
65 = % A 211302%*#4kk3%] 208 AT H—F F 35 78 85.6 81.80
66 FEE 211321 %% *kkx%%426] AR % v 1P 35 L 76 82 79.00
67 F R 211321 ***¥%%%%8626 AR T 5 v 1P 35 L 79 77.6 78.30
68 Z Ty 211381 *kxkxkx%k0045 AT % 2 F 1P 1% 79 76.2 77.60
69 Zw 211302%*kkkxk]24] — AR P iE 72 82.2 77.10
70 # Ak 211302%*kskk%] 607 — PR AR P & L 73 81 77.00




71 7K T 21138 #*kkk4%7024 — P RS AR P & L 70 83.4 76.70
72 K 3% 8t 211302%#**x3xx%((28 — P EAR SR 1 ¥ 1% L 72 80.4 76.20
73 A 211381 # k454540020 — PRI P iE L 71 81.2 76.10
74 A B 2R 211302%***k%4%]628 AT 5 AN\ F P E 71 81.2 76.10
75 A R R 211302%***%%%%] 646 AT % o5 F A 94 87.8 90.90
76 E XA 211322%***kkx%]5)] — AR A P s 90.5 90.8 90.65
77 x| E A 211322 #*kk44%3577 AT 5w o F w1 s 91 83.4 87.20
78 2 L 36 211422 #*kk45%7(20 AE T v 1 F RiE 90 83 86.50
79 M AE TR 211324%#**xx%%30927 — P EAR SR A 87 85.8 86.40
80 F—# 211302%****%%%0426 — AR P s 86.5 86.2 86.35
81 ER. 211321 ##*xx3%%4708 — W RS 1P e iE 87 85.4 86.20
82 #H A 211321 ##kxikx346X SAMRT H = F 1P EiE 94 77.4 85.70
83 E R L 21132 *kkkkxkkg6] 6 — P EAR SRR 1P e iE 88.5 81.8 85.15
84 R 3 211382 ****%%%022() SAMRT 5 AN\ F 1 p R 88 81.4 84.70
85 %2 g 220621 ***#k%%%((22 SAMR T —F F W PiE s S ki 78 82.6 80.30




86 | 4T e 211382%¥*kkxx%7]148 SAMR T —F F P ida L kg 74 85.4 79.70
87 | & 211302 **+k%5%0(28 AR T 5 v P iEfE L kG 76 82.2 79.10
88 3 W B 211321 %kxkxkxk2865 AT — o F mPiEfE L ks 77 80.8 78.90
89 PUIKISE 211321 ***¥%%%%861() — ARG M iE e kG 72 84.4 78.20
90 SN 211302%***%x%%4427 SAMR T —F F WP idia L kg 78 77.2 77.60
91 EEW 211321 #*kkrk452866 — AR mPiEfs S ki 73 82 77.50
92 SE g 211302%**¥+54%0025 AT 5w o F P fE S kg 68 86.8 77.40
93 x R 211321 ##sksnk5806 AT FH =P F w P iaia L ki 73 80.4 76.70
94 E 211324%¥%¥%%%%472() AT 5 AP F ¥ iE e L kG 71 79.4 75.20
95 E S 211321 #kskkx4767 | ST H = F i is L ki 73 77.4 75.20
96 FER 210321 #***%%%%042() SArR T %X g W iEfE L kG 68 79 73.50
97 EY T 211322%¥*k%x%%(0(27 SRR AN F P iEfE L kG 68 78.4 73.20
98 7k # 1% 211302%**k*k%%]219 AT % — o F AR 78 81.4 79.70
99 * % 211381 #*kkkx%0037 SAM T H—F F AR 72 81.2 76.60
100 | Bk4k 45 21081 1#***%%%%0026 AR T 5 v AN Ed 73 79 76.00




101 211324 #%%k%%%0420 — P RS AR AR 67 83.6 75.30
102 22021 ]#*#+k%%%430929 AT % 2P F R E 4 70 80.2 75.10
103 211302%**%*3x%%0024 — P EA SR ¥ 71 79 75.00
104 150424 #**+*%%%45)73 ST H = F AR 68 81.6 74.80
105 230125%**k*xx%5207 AT % AP F AN Ed 66 82.6 74.30
106 211302%****%%%2(20 ST H = F AR 68 80.6 74.30
107 211381 *#*#k44%0420 AT AP F A 67 81.4 74.20
108 211302%***k*x%480%K AT 5w o F P WP 80 85.8 82.90
109 211302%%** 5550865 AT % —F F 1 b3 66 88.8 77.40
110 142429 %% **%%%0(26 AT H = F 1P 3 74 77.2 75.60
111 150428 **xkxk%3436 ST H—F F 1 b3 65 84.2 74.60
112 211303k xkxk%%(0g2 | SAMR T %X g 1 32 62 86.4 74.20
113 211002 ****x*%]225 — P EAR SRR A1 P W22 64 84.2 74.10
114 150430%****%%%0585 SAMRT 5 AN\ F 1P 3 65 81.8 73.40
115 211302%*****%%3277 — P EAR SR A1 P W22 54 90 72.00




116 | kK% & 150428+ *+k+%%6055 ST AP W L 60 83 71.50
117 | E#4w 211302%**kkx%] 608 AT FH—FF 1P 2 88 89.8 88.90
118 | 3F & | 211322%%kxxxx032X AT FH—FF P 69 93.4 81.20
119 B KA 211302%***+kx%]2]6 AT H=FF 1Py 2 67 91.6 79.30
120 | X% 211381 **#kk%x5239 — P RALS A P 67 91.2 79.10
121 | F &K 211302%***+k%%0822 — AR P 65 90.4 77.70
122 | ERiE 231181 ¥*k*rk4%k](0]5 AT FH AP F P 63 90.8 76.90
123 | KELK 130406%*****+*3318 — PR P AL 91 94.6 92.80
124 | # A 211022%****%%%](29 — P A AL 87 90.8 88.90
125 | 3k #k 211303%****5%%044() AR T @) M8 F AL AL 80 92.2 86.10
126 | E & 211203 ***#xx%x%x2(023 AT FH—FF w1 p A 78 84.4 81.20
127 | &4 210123%****%%%26)5 AT FH—FF w1 p A 74.5 86.2 80.35
128 | g 0T % 211321 ##*kxk55242() AT FH = F X 77.5 78 77.75
129 | %k B 211321 #***+%%%0866 AT FH=FF P 72.5 82.4 77.45
130 | x I 2113244 **k*kx%6704 ST F v o 5 M 69.5 84.6 77.05




131 | 2 3%k 211303%*k*x5%%0426 AT % o5 F AR 64 87 75.50
132 T &% 130825 %k *ik*4)5)8 SRR 5% S F A 62.5 79.8 71.15
133 | & X # 150420 #**%%%3625 — P RARSAR A 55.5 85.8 70.65
134 | % F 211322%%k4k45%0763 — AR W 63.5 77.4 70.45
135 | F k¥ 211381 #*k*kk%%302) SAMR T H = F ¥ F R 80 84 82.00
136 | # R 211324 %****%%%3()45 SAMRT 5 o5 F F PR 82 81 81.50
137 | % % 211382 # k4] QD3 AT H—F F WP RE 78 81.3 79.65
138 | # % 211302 #**k%%%281() — ARG P RE 75 80.6 77.80
139 | & & 211322%%k4k%5%6799 — P AR MEPRE 73 79.4 76.20
140 | T M 211382k *kkkx%44]3 AT 5w o F WP RE 69 82.5 75.75
141 | & KB 211324 %kkk5%0(] 7 AR % v MERE 72 79.5 75.75
142 | %2 F 21138 #k*kk%4]53 — PRI MEPRE 67 82.9 74.95
143 | 2Lz 211321 # ki 75] AR F = F P RE 65 83 74.00
144 | F & m 211382k rkk4%4637 ST b F WP RE 65 82.8 73.90
145 | X K 5% 220882%***kk¥%5(36 AT 5 o5 F P RE 77 70.6 73.80




146 | KRB | 412826%kxrkri565%K AT % o5 F MERE 65 81.2 73.10
147 | #% %k 211382%*kkkx%5)]3 AT 5 o5 F P RE 62 83.2 72.60
148 + 2 F 211324%**%%x%%19] | FAMAT H AP F MERE 67 78 72.50
149 | £ b 211382k kkx4%6(]2 gﬂzgiéiiﬁ P ARE 65 79.7 72.35
150 | 3k X HF 231027****5%%%6329 AT FH = FF P ER 71 76.2 73.60
151 g i X 211322%%k4kk4%35] ) SAMRT 5 o5 F F P EAR 68 73.4 70.70
152 | A &AL 211322%****%*%8505 — AR A WP AT BH AR 65 88 76.50
153 | 342 & 150429%*##*%%%(317 AR T HIREE T o RS BN 62 84.6 73.30
154 | A2 211302%*k4k45%0427 SR TR IREH PO FAAA 90 73.2 81.60
155 | & % # 211322 **k*4%%35)8 AR T E 4 )LE FEAE 80 82.2 81.10
156 ¥, AL SR 150420%#**x3x%x%(327 AP T HE 4 LE FRREF 85 77.1 81.05
157 5K B A% 211422 %¥*%%%%%0026 FAMA T HE 4h )L FRREF 84 77 80.50
158 ¥ B A 211302%*k*k4%2804 AP T HE 4)LE FRREF 71 77.6 74.30
159 %@ 4% e 211302 **k*+%%)84) AR T E 4 )LE FAHA 71 77 74.00
160 | x| BL 150429%*#%%%%%(342 AT HE 4 )LE FAAA 68 79.4 73.70




161 o9 211381 ##**x3x%%(827 AT HE 4 )LE FRREF 65 81.2 73.10
162 | 4= %1% 211321 #*k%kk4%] 106 AT HE 4 LE FAAA 68 76 72.00
163 | ¥ = 21031 ##*k%5%092) MR & N TR K F ¥ L 64 80.6 72.30
164 | i # 211302%*kk k4% ] 645 AT ALK F Tk K 5 B 69 74.8 71.90
165 5oy B 211381 #**¥kxx%612() AT KT TR K FH H 71.12 85 78.06
166 | #2-F @ 211302%****%%%0834 MR SN TFRAKRFERAF 69.01 79 74.01
167 | M4 # 211422 %****%%%2370 AT M F AR TR S 65 74.6 69.80
168 2 & 211302%***%%%%]624 AR T W FAR T ARH S 52 86.6 69.30
169 | ¥ 211381 #*kkkxk6408 SATR T M 22 F AL P 3R 45 L 75 77.8 76.40
170 | %k & 23052 ] #*kHkkHk) 548 M IAERRKFR P 5235 72 79.6 75.80
171 R AR F 210902 %******%((27 Al TRFERFR P B35 X 68 74 71.00
172 | # £ &% 211381 #*#+kk%%0062 AR T M 2 F AL P IR E 89 87 88.00
173 | & % 23] 2] %***%%%%032() FA T M2 FAR BRI 1E 84 89.8 86.90
174 | k% 211322 *k4kk4%5507 SR A AR P IR A 85 80.6 82.80
175 | k3 14262 7* % *x5%%042X SARA T W & FAR P AR AR S 69 89 79.00




176 | & 2 % 211302%*Hkk%%44)7 AT W22 FA P IR AR B 68 83.4 75.70
177 | 7 211321 #¥*kak450025 AT W2 FA IR 83.5 86.6 85.05
178 | EF W 152200 %#%k454%07] 6 A TR RFA FERRE 52 84.4 68.20
179 | x| #F 4 211302%***%x%%]637 AR TRBERFR IARITA 76.59 81.14 78.87
180 | #4 = 210521 ***x*%x%006X S TR R FA FHELESHEK 69.39 84.43 76.91
181 | & 4t 211303 %**k4k%%32]2 A TARBERFR FEHELESEA () 82.62 84.57 83.60
182 | x| 152301 %*** k%] 51 () A TRBERFR AFIE R G Yty 81.91 81.43 81.67
183 K AE % 21092 **kkxxx33] X A TR R FAR AR A 5 s 77.76 83 80.38
184 | X & B 210624%*** k44834 A TEERFR W, A IE AT 4 ) 86.39 80.57 83.48
185 Ik 210703 ***k#xx%3872 AR T F AR % A&kt 82.01 85.71 83.86
186 | #F A 211302%**+5%%%0429 AT A S eIt 82.34 81 81.67
187 ;07 230503 ***k*xx%( (28 AT A SR Ciak 77.84 85.43 81.64
188 | & T 211321 *¥wkinx5363 ST T A PR eIt 78.88 83.29 81.09
189 | FL#% B 211302%##*+5%%0043 AT A SR g 77.81 84 80.91
190 [ RAKF 211302%***k4%%]6)3 FAMA T A AR FIE (ER) 74.99 82.71 78.85




191 FEHK 211322%* k44558026 AT LA FR FE (BK) 71.17 81.71 76.44
192 | F X4 211302%***k%%%] 669 ST A FA 43 60.33 81.57 70.95
193 | RE&4E | 211302%%%xkxk]23X ST LA PR fig 3 87.71 84.57 86.14
194 | # & 211303 ***kxk4%] 624 ST AR 25 51 76.49 80.57 78.53
195 X F 211381 **kk%x04]7 AT A AR EFHEHE R 73.03 76.57 74.80
196 | X 2 | 211381%kxkrkix]0]X ST A SR EF AR 61.07 79.86 70.47
197 | # @3 211382%*kkk%%20)3 AT A AR EFH B 63.36 79.57 71.47
198 | £2® 211381 *kwkinx] (28 S AR A 68.37 82.71 75.54




